
                           
 

GRADE12/ UNIT EIGHT 

 

I. Vocabulary (20 Marks) 

Choose from a, b, c and d to complete the following sentences: 

(4x5=20)  

1- The government’s first priority is to combat ............................. and  

    providing more jobs for young people.  

          a- unemployment                  b- infrastructure                     

          c- almond                              d- metropolis  

2- Immigration has increased sharply and ........................ this trend will     

    be extremely difficult. 

    a- narrating                           b- bumping into               

    c- reversing                           d- plucking up the courage   

3- In summer, the normally calm, ........................ streets fill with crowds of  

     tourists. 

         a- graduated                        b- tranquil              

         c- astounded                       d- embarrassed   

4- ......................... and lack of jobs in the area have created an explosive  

    situation.  

    a- Glamour                          b- Export                 

    c- Infrastructure                   d- Overcrowding   

 

 

 

 



 

II. Grammar (20 Marks) 

Do as shown between brackets: (4 X 5= 20)    

5- I had closed my eyes. I fell asleep.               ( Begin with: No sooner)                                                                          

a. No sooner I had closed my eyes than I fell asleep.                    

b. No sooner I had closed my eyes when I fell asleep.                                           

c. No sooner had I closed my eyes than I fell asleep.                                  

                                                                                                  

6- We had reached the station. The train came.    ( Begin with: Hardly)                                                                                    

a. Hardly had we reached the station when the train came.    

b. Hardly we had reached the station when the train came.            

c. Hardly had we reached the station than the train came.                                                            

7- Today's exam is easy. Yesterday's exam was so hard.   

                                                                         (Use: in comparison with) 

a. In comparison with today's exam, yesterday's exam was so hard.                                                          

b. In comparison with today's exam is easy, yesterday's exam was so 

hard.                                                                                                                                                        

c. Today's exam is easy. In comparison with, yesterday's exam was so 

hard.                                                                                                                                                                                 

8- He was so exhausted. He went straight to bed.       (Begin with: So)                                             

a. So exhausted was he that he went straight to bed.         

b. So he was exhausted that he went straight to bed.           

c. So exhausted he was that he went straight to bed.           

 

 

 

 

 



 

III. Writing (40 Marks) 

 

Plan and write a short argumentative paragraph of 6 sentences 

discussing arguments for and against living in the city.                               

 

Write your outline (5 Marks) 

 

Introductory sentence:  

 

 

Supporting details: 

 

 

 

 

 

Concluding sentence: 

 

 

Write your topic here (35 Marks) 
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